H = 0l &8 AF S & A A
2A: SAID
BE: QNS CANL(BELTENL/NLLEA)
ol CAITH A ALY LR
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
S Al D 7,061,055 9,118,594 N2,057,539
rag 1,927,000
& 199,200
Al 4,934,855
OlHKISFE AN (2EYL X AN/ N S2LU T Al) 6,623,971 8,822,558 A2,198,587
g 1,700,000
& 170,000
Al 4,753,971
S AIRHAH AL 6,243,569 8,702,956 N2,459,387
g 1,700,000
== 170,000
Al 4,373,569
TAITHAMX| R HEH 29 315,851 160,836 155,015
101 el4| 147,015 142,560 4,455
4 J12ZtH2EXsEE S 147,015 142,560 4,455
=0 A 147,015 142,560 4,455
OEHEEAl SAITHM XA EE CIAAH| 147,015
o Mg &t 240,000 x20 x 12& 57,600
oER(2¥) 150, 000 »2H x20L « 12& 72,000
oHAUBEH 129,600,000 *3.545% 4,595
oMIQAULE 4,595,000 %12.27% 564
o=0I=z 129,600,000 4 . 5% 5,832
o NEYE 129,600,000 *1.75% 2,268
oAES 129,600,000& *1.003% 1,300
o CAITHAM HERFX 04|
68,000& *3H x2 U x73| 2,856
201 LB AH| 95,836 15,276 80,560
01 AtR2teldl 13,236 3,276 9,960
=0 A 13,236 3,276 9,960
OAR 2H23 ¢ 300,000& 128 3,600
OQEALRI|D| L MAALADRE 2!
500,000 122 6,000
O] Xz 60,0003 x2CH* 12 1,440
Ose| dxs 143,000« 128 1,716
O2J1&8&)| 2x= 40,000« 12& 480
02 =524t 17,600 12,000 5,600
=0 A 17,600 12,000 5,600
oRue2 50,0002 x12& 600
Orsplicr=: 700,000 1228 8,400
OMNel=ER2 200,000« 12& 2,400
O =H| 1,200&%1,000L 1,200
OEATMESE X ZHE HAFIH| 5,000
03 AR HH| 65,000 65,000
=0 A 65,000 65,000




=N

S Al

ME: DHNBN EANS(ZELXISNL/X LA
Sl SAIAMANS (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
OZAIEAl prgutets] 9 S AR &
Ot &AL 25,000
OZAISEA et =203 2Z 40,000
301 LetEEZ 3,000 3,000
11 HAAHIKIE S 3,000 3,000
S04 & 3,000 3,000
OF0IHIot S2AIY 2= /35 3,000
401 AMIEBIZ U] 70,000 70,000
01 Al&H 70,000 70,000
S04 & 70,000 70,000
SAITHA AM EC A 70,000
SAITHA A= 22l 26,684 19,600 7,084
201 Ler23d| 6,684 9,600 A2,916
01 AtR22teltl 384 0 384
201 & 384 0 384
Ogkls 23 F)| Xz
32,0003+ 12& 384
02 323l 6,300 9,600 23,300
20i & 6,300 9,600 A3,300
Ogkls 2RFY S3tH I3
140,000 =123 1,680
OZXE ZRFY 45145 23
15,0002 * 12& 180
OS2HAEGIRA S4aIe3
170,000 =123 2,040
OS2l LD 82 MIIR=
200,000 =123 2,400
401 AIEHIL 20| 20,000 10,000 10,000
01 A&t 20,000 10,000 10,000
=0 A 20,000 10,000 10,000
OZATHM Ald=E KA 20,000
ESXNs TAITHMAY 2,000,000 98,400 1,901,600
= 1,200,000
& 120,000
Al 680,000
101 Q1244| 93,437 92,400 1,037
M It 22 sE 93,437 92,400 1,087
201 & 93,437 92,400 1,037
OSEXIJAHE 22| 93,437
oA 200,000 x202 * 12& 48,000
oE& 150,000 *20 * 12& 36,000
cAdAEH 84,000,000 *3.545% 2,978
oZRATH 2,978,000& *12.27% 366
o=013 84,000,000 *4. 5% 3,780
clEEH 84,000,000& *1.75% 1,470
oMIEE 84,000,000 *1.003% 843




2A: SAID
BE: QNS CANL(BELTENL/NLLEA)
ol CAITH A ALY LR
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
201 LBt AY| 31,600 6,000 25,600
01 AF222telb] 29,800 6,000 23,800
=0 A 29,800 6,000 23,800
OAMNR 2H22 ¢ 200,000« 12& 2,400
OEALRI|D| L MAALADE 2!
300,000& 128 3,600
O8] Xz 150,000& = 12& 1,800
O AITHA OF2HHIDI nEES 22,000
2 3324l 1,800 1,800
=0 A 1,800 1,800
oRER2 50,0002 x12& 600
O¢zH| 1,200& *1,000L 1,200
301 LEBN= 2,000 0 2,000
11 SHAMAHIXI R 2 2,000 0 2,000
=0 A 2,000 0 2,000
OSAIMMAR 3o & NFEAM 2,000
307 21201 ™ 70,000 70,000
02 DI2ZIAAAIEE 70,000 70,000
S0 A 70,000 70,000
OZXES TAITHAM =012 AIAH| 70,000
403 XXISHHS K201 1,797,963 0 1,797,963
g 1,200,000
o= 120,000
Al 477,963
02 SIS S A=A PIEAIEY| 1,797,963 0 1,797,963
g 1,200,000
o= 120,000
Al 477,963
=0 A 1,797,963 0 1,797,963
g 1,200,000
< 120,000
Al 477,963
OEXl SAITHA DIBEAIE = A (h/w) 1,797,963
rag 1,200,000
& 120,000
Al 477,963
405 KHAMSEISHI 5,000 5,000
01 A2 EF SHI 5,000 5,000
=20 A 5,000 5,000
OSEXJALMEH 2I=E 2 5,000
SAITHAAIY 22 &2 11,504 11,720 N216
202 04| 9,504 9,720 216
01 2yl 9,504 9,720 N216
S0 A 9,504 9,720 216




=N

S Al

BE: QNS CANL(BELTENL/NLLEA)
2l SAITHA AL (EEREE]
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% MinEs)
OZAIMAIS HR2EO
88,000 *x3H 2 x 183 9,504
203 HR=AH| 2,000 2,000
03 AIHF=RIA R =AY 2,000 2,000
S0 A 2,000 2,000
OZAITHMAIY &A43F =& 2,000
TAITHAY Z2EALS &2 550,000 0 550,000
207 APIHEH] 550,000 0 550,000
01 H32ES <l 550,000 0 550,000
=01 A 550,000 0 550,000
OZAITHY B2AY &= 550,000
A S AIAHARS (RERITAFRT) 81,530 0 81,530
101 o12AH| 80,090 0 80,090
M4 J12ZtH22sSES 80,090 0 80,090
=0 A 80,090 0 80,090
OSEXAHE Q124d| 80,090
o &2l (2d) 150, 000 »2H x202 « 12 72,000
oHAUABYH 72,000,000 *3.545% 2,553
oA)IQAUEH 2,553,000&*12.27% 314
o=0I=a 72,000,000& *4. 5% 3,240
o 1EYE 72,000,000&*1.75% 1,260
oAES 72,000,000 *1.003% 723
201 LE2HH| 1,440 1,440
01 AF222telb] 1,440 1,440
S0 A 1,440 1,440
OB 2 X AY| otM22|THE =2
120,000& = 12& 1,440
U2It=L HUIAIY 100,000 0 100,000
401 AlEHILL20H] 100,000 0 100,000
01 Al 99,200 0 99,200
=0l & 99,200 0 99,200
O%2ot=d HUIAIY 99,200
03 A& S0HYI 800 0 800
S0 A 800 0 800
Oa=z0t=2 ALY A& E201Y] 800
Eco job city EHEH SAITHAH ALY 3,158,000 8,305,000 N5,147,000
g 500,000
& 50,000
Al 2,608,000
101 e1A4H| 175,037 171,600 3,437
M4 J12ZtH 22 sSES 175,037 171,600 3,437
=0 A 175,037 171,600 3,437
OSEXAHE Q12| 175,037
oE & 200,000 x20 x 12& 48,000




=N

S Al

ME: DHNBN EANS(ZELXISNL/X LA
SRl SAITHAM AN (Gt &
S - BB BR(31) - NSAY - BES S SR b=
oEJ(3Y) 150, 0002 *3H x20 » 12& 108,000
ST ANMAEALR F=& (H|
63,000 x2H* 123 1,512
ocHUEH 156,000,000 *3.545% 5,531
oMIRAZH 5,531,000&*12.27% 679
o013 156,000,000& *4. 5% 7,020
clEEH 156,000,000 *1.75% 2,730
oMIHEE 156,000,000& *1.003% 1,565
201 Et2AH| 58,300 11,173 47,127
01 AtR22t2ltl 34,160 8,233 25,927
204 & 34,160 8,233 25,927
OAIR 29288 ¢ 300,000&*12& 3,600
O&=)| & &= 201,000&*12& 2,412
Os8| Xtz 143,000 =20 = 12& 3,432
ORCIEHIAAE 24 143,000 *12& 1,716
O AT FE ALY S AITHACHS! 23,000
02 =323l 4,140 2,940 1,200
=0 A 4,140 2,940 1,200
oMII2 300,000& 128 3,600
O&ot=ER3 20,000& x12& 240
O&stx 43 300,000 *13] 300
03 A2 HH| 20,000 0 20,000
204 & 20,000 0 20,000
OSAIMM T2 2H 20,000
301 detENZ 4,176 1,501 2,675
11 SHALAHIKIZ S 4,176 1,501 2,675
204 & 4,176 1,501 2,675
OZAMMALR 319 Y WKEA 4,176
oF0IEEM AII132
8,000& 18 +123] 1,728
oFDIEOIM AtHIAE
68,0002 *36H *13] 2,448
307 2I2t01A 50,000 55,000 25,000
02 DIZIZAANSEEX 50,000 55,000 25,000
20 & 50,000 55,000 5,000
(OECO JOB CITY EfEH =DIS2AIHHI 50,000
403 REXISHMS K201 2,870,487 7,105,811 N4,235,324
= 500,000
& 50,000
Al 2,320,487
02 SI|2SOoCHet 2N EAIZ ] 2,870,487 7,105,811 A4,235,324
= 500,000
& 50,000
Al 2,320,487
=0 A 2,870,487 7,105,811 N4,235,324




2AM: ZAID
BE: QNS CANL(BELTENL/NLLEA)
ol CAITH A ALY LR
. . rou 1 0f ar .
SH - B S9(3H) - NRAY - BES S cR HIDS2
ax 500,000
& 50,000
Al 2,320,487
OECO JOB CITY EHEY ZAITHMSEAIE HW =
& 833,333
= 500,000
& 50,000
Al 283,333
OECO JOB CITY EHE®Y SAITHM =S ALY HW =
T(KEA 2,037,154
SAIAHE 2el 380,402 107,568 272,834
SAl2eHE 2Z 48,402 24,568 23,834
201 LEr23Ad| 41,010 20,680 20,330
01 AtR22teltl 37,410 20,680 16,730
S0 & 37,410 20,680 16,730
OEANAEANEZE MEE02 13,000
OZAHERARAS EN=E
70,0003 *10¥*123] 8,400
OZAIHERARAS EA0Y|
16,000& * 10 *123] 1,920
OSAHAIE B2 Zatbaa
500,000 *2IH A *13] 1,000
OREHBBIIES HHLY
70,000 *5H 350
OZAIHERRAG 29 28 257 2,000
OF A (LB DT
895,000& x12& 10,740
02 S32g94| 3,600 0 3,600
20/ & 3,600 0 3,600
OSAHE OGRS *FF4I
300,000 =123 3,600
202 04| 7,392 3,888 3,504
01 ZLHH] 7,392 3,888 3,504
=0 A 7,392 3,888 3,504
OZAIAHE 22| HRFX
88,0003 *4Z *123] 4,224
OMgsI5} 2o Y22
88,0003 *3F *123] 3,168
SAHEEERMA(PIS)2S ¥ 2el 32,000 83,000 51,000
201 LEt23d| 32,000 83,000 251,000
02 2323l 32,000 83,000 A51,000
S0j &t 32,000 83,000 251,000
OZAIHEFHEMAH(PIS) RN E+E2S 32,000
SAHE JIEZERAF BEAHAH 2= 300,000 0 300,000
207 AT 300,000 0 300,000
01 A72E29d| 300,000 0 300,000
=0 A 300,000 0 300,000




A SAID

BE: DN CANL(BELTENL/NLLEA)
ciel: TANE 22 (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
FEH FHRSFZL(ZELX S IHL/XALEZA|) 256,200 262,000 5,800
g 227,000
& 29,200
SAIF=HEE Y| 256,200 262,000 N5,800
rag 227,000
== 29,200
Al FUXSE MENH HEAI(ESKF) 256,200 262,000 A5,800
g 227,000
= 29,200
201 LB AH| 106,127 72,600 33,527
g 94,029
= 12,098
01 AF222telt] 65,000 72,000 A7,000
rag 57,590
& 7,410
S0l A 65,000 72,000 A7,000
rag 57,590
& 7,410
Oll=&s)t &=l
116, 300 x2H x222 « 12& 61,407
g 54,407
& 7,000
OHA dxz 700,000 23] 1,400
g 1,240
= 160
OANR 2422 7Y 2,193
g 1,943
< 250
02 2324t 1,127 600 527
g 999
& 128
=0l & 1,127 600 527
g 999
& 128
OSEEXAHE 29| 1,127
g 999
= 128
03 AL HH| 40,000 0 40,000
g 35,440
< 4,560
=01l A 40,000 0 40,000
g 35,440




EA: Al
BH: WSH ENSHEA(IEWX WL/ X AATA)
&2l SAIF=EE Edl (ct9: &2
M- B2 - 22(31) - HSAY - BaS S SR b=
= 4,560
O3SH XNIANG (1S, #HAIS) 40,000
= 35,440
& 4,560
401 AIEBIS 20 150,073 130,400 19,673
= 132,971
& 17,102
01 Al&HI 149,000 129,470 19,530
s 132,014
= 16,986
=0 A 149,000 129,470 19,530
= 132,014
& 16,986
OSAIFHLX S MENH IHEAIS(ES
=) 149,000
s 132,014
& 16,986
03 Al 2CHYI 1,073 930 143
= %7
& 116
20 & 1,073 930 143
= b7
& 116
OSAIFH XS MEN A IEZAIS(ES
A7) A= 1,073
= b7
& 116
SHMSAAH| (T AIDH) (DIEHDIE}) 34,884 34,036 848
Jl2&l 34,834 34,036 848
J1238I(ZAlD) 34,884 34,036 848
1 2BrEI| 29,844 28,916 928
01 AtR22t2lt| 27,444 26,516 928
=0 A 27,444 26,516 928
O2ANM2Z JI=23H| 200,000 =123 2,400
OME 2928 & 300,000&*12& 3,600
OAHFAIRID| & HMMAZE 2
500,000& = 12& 6,000
O&=J| Xtz 60,000 x2CH* 123 1,440
Os8| dxtz 396,000&*12& 4,752
Oz 53 51,0002 12& 612
O=&l 8,000 18 +60 8,640
2 S32g94| 2,400 2,400
S0/ & 2,400 2,400
ORERI 200,000&*12& 2,400




2A: SAID
Nz HYESAHHI(Z A (DIEHDIER
cigl: |22 (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
202 04| 1,440 1,520 A80
01 2yl 1,440 1,520 N80
=0 A 1,440 1,520 A80
OBIAZ2 2| 20,0003 *18H 43| 1,440
203 HR=AH| 3,600 3,600
04 BASISE2FEH| 3,600 3,600
=0 A 3,600 3,600
OFNMSHARE=EH| 300,000« 12& 3,600
MRES(ZAIDN(2EL X HINL/RAL AL 146,000 0 146,000
LHEHeHXI= 146,000 0 146,000
LHEHH KIS 146,000 0 146,000
701 JIEISIHSEE2 146,000 0 146,000
01 JIEISIHE =2 146,000 0 146,000
SH=O0IXI 146,000 0 146,000




